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Vg = é cP + kv — CP=Coupon payment; FV=Face value,

o @+r) (1+r)
CR=Coupon rate; n=Nper; r=Discount rate
[T =10years Face Value =$1,000 Couponrate=8% r=10%)|

1. Semi-Annual Coupon payment
(1) Coupon payment = 1/2*CR* FV = $40
> CP FV & 40 1,000
V, = - —+ = —+ - =
@ TR0y ey 2o wos)”
=40*12.4622+ 376.89 = 875.37

40* PVFA,, ,, +376.89

2. Annual Coupon payment
(1) Coupon payment = CR*FV=$80

n 10
Vy=8 o+ V=4 8 +1’002:80* PVFA g, 10 +385.54
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= 80* 6.1446 +385.54 = 877.10

‘LoanleOK r=12% T=30years|

1 monthly loan payment?
ry1,=12%/12=1%
100K=X*PV AR 01,360
X=1028.61
2 Premium vs. Interest
=100K*1%=1,000 =1028.61-1000=28.61
=1028.61/1.01=1018.43 1028.61-1018.43=10.18
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Remaining Balance
T=10years
20
Loan balance=1028.61*PVA Fy 01.240=93,417.76
Timevalue of Money TVM analyss

loan balance? (Balloon payment)

| 1,000 12 88

88*12=1,056 - r=56/1,000 = 5.6%

ry12=0.5%

88 Timevadue 5.6% 6% Balance Interest Premium
1,000.00
917.00 5.00 83.00
D) 1000*0.5%=5 833.59 459 83.42
83 749.75 4.17 83.83
665.50 3.75 84.25
) Balance=1000-83=917 580.83 333 84.67
4.59 495.73 2,90 85.10
(3 5.6% 2056 508 o
237.88 1.62 86.38
151.07 1.19 86.81
4 1 63.83 0.76 87.24
(23.85) 0.32 87.68
88" 12- 1000
® Rate @((0+ 1000)5 2) =11.2% lBgO%n&e) Interest Premium
920.48 8.48 79.52
840.29 7.81 80.19
PMT " PVAF, ,, =1,000 759.42 713 8087
, 677.87 6.44 81.56
1 595.62 5.75 82.25
D) 1- 512.67 5.05 82.95
n 429.02 4.35 83.65
88 Jl-l-_rL =1,000 344.66 3.64 84.36
r 259.58 2.92 85.08
— 173.79 2.20 85.80
&) r=10.18% 87.26 147 86.53
i i (0.00) 0.74 87.26
Bond valuationanalysis
\VB=935.08 FV=1,000 T=12 coupon rate=10% (YTM) |
(100* 12+(1000-935.08))/12 - 105.41/year returd
r=105.41/1,000 = 10.5%
® Rate @(100 12- (1000- 935.08), 12) _ 10.80464%
(935.08+1000) , 2
n 12
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